
# Vector Field

Def a func E: D> An for DERM in the form
÷ = If . ..., fur

in which each fi. D-=R is a component fume
Elx, y) = (2xy, xangs) in R°
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v
Notation Usually we use

F=(P.Q> in R*
for component func

F= LP,Q,R> in R'

-Gradient
f: R" » R

ver field
& scalar field

of= (fx, fy, fa) an R3 vec field

A vec field I is a conservative V.F. aka grastient viF. if

V(x'-y') = F

I Not an off!

F=If for a scalar fune f.
Ex. # = (2x, -2y) conservative succe
Non Ex. F? = 6 -y, x> a retational V.F. not conservative.

For F(P.QD. if P,Q are a' and Pyt Or. then I not conservative

That f is called aEx (cont) f = *it y' it potential function
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If F= CP, Q> conservative, If sit. fr=P, fy = Q.
Then by Clairent's thmP,@ are a f is ca

fry =fyx a Py = Qu
Consider == I У

will find Pr-Oy, but it is still non conservative
general, Py=Qx but IP, as not conservative always has to do with

- viz domain D doesn't have hole
'simply connected DER', then«Py = Qx

hole in domain

Then If I defed on a
‡ conservative

Prost Since
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